
INSTRUCTION MANUAL

WWW.NEOMOUNTS.COM

FPMA-W960

EN 

NL 

DE 

FR 

IT 

ES 

PT 

DK 

NO 

SE 

FI 

PL 

CS

SK 

RO 

TV wall mount

TV wandsteun

TV Wandhalterung

Support mural pour TV

Supporto TV a parete

Soporte de pared para TV

Suporte de parede para TV

Vægbeslag TV

TV veggfeste

TV-väggfäste

TV seinäteline

Uchwyt ścienny do TV

Nástěnný držák na TV

Nástenný držiak na TV

Suport TV de perete



Install the wall plate on a solid wall 
Installeer de muurplaat op een stevige wand
Installieren Sie die Wandplatte an einer festen Wand 
Installer la plaque murale sur un mur solide 
Installare la piastra a parete su una parete solida 
Instale la placa mural en una pared sólida 
Instalar a placa de parede numa parede sólida 
Zainstaluj płytę ścienną na solidnej ścianie 

EN
NL
DE
FR
IT
ES
PT
PL

PARTS

FPMA-W960

Tool

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

0-25 kg 12-43 cm

Attach the screen to the bracket and secure it
Bevestig het scherm op de beugel en zet vast
Befestigen Sie den Bildschirm an der Halterung 
und sichern Sie ihn
Attachez l’écran au support et fixez-le
Fissare lo schermo alla staffa e fissarlo
Coloque la pantalla en el soporte y fíjela
Fixar o ecrã ao suporte e fixá-lo
Przymocuj ekran do uchwytu i zabezpiecz go

EN
NL
DE

FR
IT
ES
PT
PL

Drill

STEP 1

Attach the VESA plate to the screen
Bevestig de VESA-plaat aan het scherm
Befestigen Sie die VESA-Platte am Bildschirm
Fixer la plaque VESA à l’écran
Fissare la piastra VESA allo schermo
Coloque la placa VESA en la pantalla
Fixe a placa VESA ao ecrã
Przymocuj płytkę VESA do ekranu

Install the adapter brackets
Bevestig de adapter steunen
Montieren Sie die Adapterhalterungen
Fixez les supports adaptateurs
Installare le staffe di adattamento
Instalación de brazos adaptadores
Instalação de braços adaptadores
Zainstaluj ramiona uchwytu

Install the adapter brackets
Bevestig de adapter steunen
Montieren Sie die Adapterhalterungen
Fixez les supports adaptateurs
Installare le staffe di adattamento
Instalación de brazos adaptadores
Instalação de braços adaptadores
Zainstaluj ramiona uchwytu

EN
NL
DE
FR
IT
ES
PT
PL

EN
NL
DE
FR
IT
ES
PT
PL

EN
NL
DE
FR
IT
ES
PT
PL

STEP 2

STEP 2

STEP 2

STEP 3

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

Screen size

VESA

Weight capacity

Tilt

Swivel

Rotate

Height

Depth

Gas spring

Curved screen compatible

Quick-release VESA

Top-�x clamp

180° lock system

Handlebar

Crossbar

Cable management

100x100 | 
400x400 mm

B

A

C

B

A

F

400 mm

40
0 

m
m

E

D
400 mm

300 mm

10
0 

m
m

20
0 

m
m

I

G

H

G

I

H

C

B. 1/4″x2″
(x4)

C. (x2) D. (x2) E. (x2) F. M4x10
(x4)

G. M6x12 
(x8)  

M4x16 (x6)  

M4x35 (x6)  

M5x16 (x6)  

M5x35 (x6)  

I. Washers

M5 (x6)  

1/4” (x10)

M8 (x6)

M6x16 (x6)  

M6x35 (x6)  

M8x16 (x6)  

M8x35 (x6)  

H. A. (x1)

G

200 mm

200 m
m

100 m
m

100 mm



23.11


